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Instructions : Autempt all gquestions.

Gy 3TN gfz dEves €, @ fat s renfast = gaEw Sifag)

Use diagrams or flow-charts 1f necessary.

(i) WA FHF 23 W 26 9% F w4 o 9rafrw fawreg ey g €

In Question Nos. 23 to 26. internal options are given

RAdr ¢ (A) YT HH® 1 R/ S a AfITIE T § 1 TRE Y W 1 A% e
£ (IW AN Afusam T=-F 1 I/ 1 )

Instruction : (A) Question Nos. 1 to § are very short answer type questions. Each
question carries | mark. (Maximum word-limit is | word/1 sentence)

oge-1 IUCDN‘{{TWWI [1]
Give full name of IUCD.
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Fder

(2]
ol ¥ ) A = F W fefag) [at+ve=1)

Name any two breeds of fish.

TH N0 & A TR N0 &R T Fohet ot wgat 8 2 (1]
How much energy is transferred from one trophic level to another

trophic level?

ﬁwﬁfaﬁu(gﬂﬁ)ﬁmwwﬁm?? (1]

What is second trophic level of a pond?

W H fawfaa wm 51 o1 anes wenfa o1 9w fafag (1]
Write name of semi-dwarf species of paddy developed in India.
() W w6 W10 T ARSI W ¥ | 9 T W 2 ofF syfed
T (W &t stfopan w==-diwn 30 1= ¥)

Instruction : (B) Question Nos. 6 to 10 are very short answer type questions. Each

-9

question carries 2 marks., (Maximum word-limit of answer is

30 words)
WIOTET T R ? 12
~What is Prepotency ?
TSI 30 9 gHafa 3 ¥ of fafae (Fvd g | [1+1=2]

Write differences between Homologous organ and Analogous organ

~ (any two).

i 1 & 2 o [2]

What is Nucleosome ?

T @ wfe st svfm fafe) [1+1=2)

Write uses of Cyclosporin and Statin.



[3]
m~1o T:ﬂm’f%ﬂ?ﬁ%%? |

- [2]
~ What is called Ti Plasmid ?

e : () wmuﬁzzmwmﬁimmmamm
' T (I R Afirman -y 50 T ) |

Instruction : (C) QUCS_tion Nos. 11 to 22 are:short answer type questions. Each
question carries 3 marks, (Maximum word-limit of an_swér is
50 words)

-1 UfErefew w0 € 2 9w frw yew s 2 [2+1=3)

What is Amniocentesis ? Write its advantages.

W-12 HE YT iR o AR B (ST
Draw a labelled diagram of human sperm.
‘w13 sl @ ¥ 2 3% TR A fafEe < 3@ @ e ¥ [2+1=3]
What is Haemophilia ? Name the sufferer Royal family of this disease.
UYT-14 S OF 9 quiy wfeen @ faae aufy gow @ 2 €, w= et gan
# guifear it ST @ WEiey ¥ gueRe [1%+1%=3]
When a carrier colour blind woman is married with colour blind

‘man, then explain the inheritance of colour blindness with the help

of diagram.

eR-15 Y% T W6 DNA +t 7o # g ? | - [1%4+1%=3]
" What are Proof-reading and DNA repairing?
T -16 waﬂﬂﬁwﬁ?ﬁz‘rwﬁﬁfiﬂm R '[!_+2'=3]

What are Scdatwe Drugs ? Write their two effects.
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4]
wra-17 . hem dady T & 2 o aaE fafa - [142=3]
What is Callus Culture ? Give its technique.
UYI-18  FRH QR F0 2 ? 795 T AR G 3 ? [1V4+1%4=3]
What is Organic Agriculture ? What is its basis ?

UH-19 e Wgu % Hwvi w1 fafE) | [2x6=3]

Write the causes of water pollution.

UA-20  fore wE et F dftw s fafan) [1+1+1=3]
Write three differences between litter and detritus.

weT-21  Sa-fafavar & e % s fafae (+8 @7) | [1+1+1=3]
Write the objectives of conservation of Biodiversity (any three).

UvH-22  dend & wiiteafas 33 8 Iufera Sfaw a2 &1 dfm T Fifaa 3]

Explain in brief thé biotic factors of pond ecosystem.

Fder 2 () W9 FHHIS 23 I WA B | 3@ W W 4 3w Efed € (SW R
Afarman y=2-dm 75 o ¥)

Instruction : (D) Question No. 23 is long answer type question. This question carries

4 marks. (Maximum word-limit of answer is 75 words)

qy-23 el ferelt e mafeEt w4 2 e FEH B IR W e e _
" 3gera &1 it fan afes smen Fif) [2+2=4]
How does Eli Lilly American Company produce human insulin by

preparing two DNA sequences? Explain with diagram.

3Jear
OR

dieims sfaen sifufran & fafi= 9e @ wfes =amem sifaw)

Explain various steps of polymerase chain reaction with diagram.
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: () T HAw 24 / 26 T Aedzada ¥ ¥ 1 TS W W s 3 s
T (IW N sifurmm wee-wm 150 w2 ¥)

Anstruction : (E) Question Nos. 24 to 26 are long answer type questions. Each question

W-24

carries 5 marks. (Maximum word-limit of answer is /50 words)

Frafafas i dsm F a2 [1x5=5)
(37) /RS

(7) wRarafaw

(7)) ;W

(3 =

(3) =i

How are the following diseases t:ransmim;,d?
(a) Typhoid

(b) Filariasis

(c) Ringworm

(d) Malaria

(e) Pneumonia

Hear

OR

ek faar @ el &) Aenielal O g0 % A9 F forg 7 W@ e 2
MR FATNNTFAR? [2%4+2%=5)

* In your view what motivates young stars to take alcohol or drugs and

how can this be avoided?
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(6]
ae @ i 32 7T, Tied F w1 whaw avi st [2144 245
Describe Watson and Crick model of DNA with diagram.

HeraT
OR

ey ¥ fgom  anfawedt fafiy = wfes T s

Describe  semi-conservative method of DNA  replication
with diagram.

60 S ¢4 &1 THifEd M@ a9 A wni & uw w9

fafay [2-3=3]
(37) wEEeh T

(7 fafen wifeend

(¥) TF T°F

Draw a labelled sketch of male reproductive system and write one

main function of the following parts :
(a) Seroli cells
(b) Leydig cells

(c) Vas deferens

OR
w9 1 F itk @ T ol w1 ovw ugm el
fafa .
(37) FvE afe
(@) weal (§en)

(@) AR

NM41 C



171
Draw a labelled sketch of female reproductive system and write one
main function of the following parts :
(@) Oviduct
{(» Fimbriac

(¢) Ovary
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